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QUESTION 1

You are working with a customer that has just implemented vCenter 5.1 and Single Sign-On in their Vblock System. Afer
the upgrade, the customer is now unable to logon to vCenter using user accounts in the Sales domain. User accounts in
the Corp domain contnue to log in as expected, but are not able to confgure Single Sign-On. Which two explanatons
describe the behavior that the customer is experiencing? (Choose two.)

A. By default, users in the local operatng system Administrators group can log in to the vSphere Web Client and vCenter
Server. These users cannot confgure Single Sign-On or view the Single Sign-On management interface in the vSphere
Web Client.

B. By default, the vCenter Single Sign-On administrator user is admin@ System-Domain. This user can log in to the
vSphere Web Client to confgure Single Sign-On and add accounts to manage Single Sign-On if necessary. This user
cannot view or confgure vCenter Server.

C. If you are logged in as a domain account user, the default Actve Directory identty sources are discovered
automatcally during vCenter Single Sign-On installaton. If you are logged in as a local account user, Actve Directory
identty sources are not discovered automatcally during vCenter Single Sign-On installaton.

D. The local operatng system (localhost or hostname) users are added as an identty source.

Correct Answer: AC

QUESTION 2

Your client wants space required for the virtual disk to be allocated when the virtual disk is created. Also, any data
remaining on the physical device should not be erased during creaton, but be zeroed out on demand, at a later tme, on
the frst write from the virtual machine. Which storage provision type would you use to meet the client\\'s requirements?
A. thick LUN provisioning, eager zeroing

B. thin LUN provisioning, eager zeroing

C. thin LUN provisioning, lazy zeroing

D. thick LUN provisioning, lazy zeroing

Correct Answer: D

QUESTION 3

You are on deployment, and must enable the SSH service on an ESXi host. In the vSphere client GUI under
Confguraton, which submenu do you use to complete this task?

A. security profle
B. authentcaton services
C. advanced setngs

D. system resource allocaton
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Correct Answer: A

QUESTION 4

You are preparing to upgrade the Vblock System to the latest release certfcaton matrix and have a custom I1SO fle for
the vSphere ESXi build on the vCenter server in the DTemp folder. Which process would you use to build and atach a
host upgrade baseline?

A. Ensure you have Upload fle privileges; launch vCenter; open VUM; import the ESXi image; atach the baseline to the
target; create a baseline image.

B. Launch vCenter; ensure you have Upload fle privileges; open VUM; import the ESXi image; create a baseline image;
atach the baseline to the target.

C. Launch vCenter; import the ESXi image; ensure you have Upload fle privileges; open VUM,; create a baseline image;
atach the baseline to the target.

D. Launch vCenter; import the ESXi image; ensure you have Upload fle privileges; open VUM,; create a baseline image;
atach the baseline to the target.

Correct Answer: B

QUESTION 5

Your vSphere environment has two virtual machines confgured to use the same VLAN and subnet. The
hosts in the cluster are set up to use one DV switch. You want to ensure that the VMs communicate
properly on the network and with each other regardless which host they use.

Which acton will accomplish this task?

A. Consult with your network team to ensure that the ESXi hosts use common routers and switches in your data center
environment.

B. Ensure the ESXi hosts load balancing policy is confgured to route based on source mac hash.
C. Ensure the ESXi hosts load balancing policy is confgured to route based on the originatng virtual port ID

D. The vNic DVPort group must be confgured to be the correct setng on both virtual machines for the VLAN they are
using.

Correct Answer: D

QUESTION 6
While reviewing the Vblock System 320 confguraton, you verify the physical NIC mode is confgured for
failover for a teamed vSwitch.

Which mode would be used to confgure the NICs?
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A. actve

B. passive

C. promiscuous
D. unused

Correct Answer: A

QUESTION 7

You ordered additonal SAS drives to increase the capacity of your Vblock System 300. What is the VCE recommended
RAID confguraton?

A. RAID1 (4+4)
B. RAIDS5 (4+1)
C. RAID6 (6+2)
D. RAID5 (7+1)

Correct Answer: B

QUESTION 8

When cloning or creatng a virtual machine, storage DRS generates the fault Operaton not allowed in the
current state.

What will resolve this problem?

A. Increase |0 latency in the storage DRS cluster setngs.

B. Set storage DRS automaton mode to manual.

C. Increase the storage DRS utlizaton space.

D. Temporarily disable afnity rules while the operaton is running.

Correct Answer: D

QUESTION 9

The CIO of your organizaton requests an audit of all user logins to vCenter with the vSphere client. Which acton will
allow you to provide this informaton?

A. Run the event_export.sgl script in SQL Management Studio on the vCenter database.

B. Connect the vSphere client to the syslog virtual machine and export events.
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C. Connect the vSphere client to vCenter and export events.
D. Use the vm-support command on the ESXi host to generate the log bundle.

Correct Answer: C

QUESTION 10

A customer requests a disjointed Layer 2 confguraton on their ESXi hosts to segregate DMZ trafc. Which additonal
component is required in this confguraton?

A. disjointed Layer 2 licensing

B. an access control list for DMZ VLAN
C. a second Cisco Nexus 1000V

D. an extra set of physical adapters

Correct Answer: D

QUESTION 11

A single ESXi host becomes disconnected from vCenter and will not reconnect. When troubleshootng, you remove the
host from vCenter and it will not rejoin. You contact Support and are asked to upload the vmsupport bundle from the
host for review. The host does not have connectvity to a shared data store, but you can SSH into the host. Which
procedure would you use to generate and retrieve the vm-support bundle?

A. In vCenter, Click the File Export Export System Logs, select the desired host, select the components and
performance data, browse to the download locaton, and select Finish to complete.

B. From the console session, run the vm-support -f -w vmfsvolumesDATASTORE_NAME command.

C. Launch a streaming SSH session using the ssh root@ESXHostnameOrlIPAddress vm-support s vmsupport-
Hostname.tgz command.

D. Use the vSphere Web Client and connect to the host using htpsusernamevCenterFQDNcgibinvmsupport.cgi.

Correct Answer: C

QUESTION 12

You place a data store into maintenance mode and the process hangs at one percent. Which two solutons will resolve
this problem? (Choose two.)

A. Verify if storage DRS is disabled on the disk and enable it if necessary.

B. Verify if there are any storage rules that are preventng storage DRS from making migraton recommendatons and
correct them.

C. Increase the number of failover hosts in the cluster DRS confguraton.
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D. Restart remote management agents on all the hosts in the cluster.

Correct Answer: AB

QUESTION 13

Which vCenter feature is used by vCenter Update Manager (VUM) when patching ESXi servers?
A. vSphere DRS

B. Fault Tolerance

C. Storage vMoton

D. vSphere HA

Correct Answer: A

QUESTION 14

According to the VCE Logical Build Guide, what is the recommended installaton locaton for VMware Update Manager
and its database in a Vblock System?

A. Install the applicaton and database on the vCenter server.

B. Install the applicaton and database on a standalone server.

C. Install the applicaton on the vCenter server and the database on a dedicated SQL server.
D. Install the applicaton on a standalone server and the database on a shared SQL server.

Correct Answer: D

QUESTION 15

In a standard Vblock System 300 confguraton with two VHBAS, the VNX Storage Processor A (SP-A) has
rebooted.

How will the hosts be impacted?

A. Both vHBASs will lose a single path to all storage devices on that VNX.

B. A single vHBA will lose all paths to some of the storage devices on that VNX.

C. A single vHBA will lose all paths to all storage devices on that VNX.

D. Both vHBAs will lose a single path for some of the storage devices on that VNX.

Correct Answer: A
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